

INTEGRAL VERSIONS OF SOME GRÜSS TYPE INEQUALITIES

S. IZUMINO, J. PEČARIĆ AND B. TEPEŠ

Abstract. In this paper we shall prove integral version of integral version of some Grüss type inequalities.

1. Introduction

Let functions $f, g : [a, b] \rightarrow R$ be integrable functions and let $p : [a, b] \rightarrow R$ be positive integrable function. Then Grüss type inequality is an estimation of difference:

$$I(a, b; p) := \int_a^b p(t)dt \int_a^b p(t)f(t)g(t)dt - \int_a^b p(t)f(t)dt \int_a^b p(t)g(t)dt. \quad (1)$$

Let functions $f, g : [a, b] \rightarrow R$ be integrable, both increasing or both decreasing and $p : [a, b] \rightarrow R$ be positive integrable function. Then

$$I(a, b; p) \geq 0. \quad (2)$$

This is well-known as Čebyšev's inequality [1, pp.239].

If functions $f, g : [a, b] \rightarrow R$ be integrable and $p : [a, b] \rightarrow R$. Further let

$$\varphi \leq f(x) \leq \Phi, \quad \gamma \leq g(x) \leq \Gamma. \quad (3)$$

Then

$$\frac{I(a, b; 1)}{(b-a)^2} \leq \frac{1}{4}(\Phi - \varphi)(\Gamma - \gamma). \quad (4)$$

This is well-known as Grüss type inequality [1, pp.295].

Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be n -tuples of real numbers and let $p = (p_1, \dots, p_n)$ be an n -tuple of positive numbers. Then discrete Grüss type inequality is an estimation of difference:

$$I(a, b; p) := \sum_{i=1}^n p_i \sum_{i=1}^n p_i a_i b_i - \sum_{i=1}^n p_i a_i \sum_{i=1}^n p_i b_i. \quad (5)$$

J. Pečarić [2] has proved:

Received August 26, 2003.

2000 *Mathematics Subject Classification.* 26D15, 26D99.

Key words and phrases. Integral inequality, Grüss type inequality.

Theorem A. Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be, both increasing or both decreasing, n -tuples of real numbers and let $p = (p_1, \dots, p_n)$ be an n -tuple of positive numbers. Then we have the inequality:

$$I(a, b; p) \leq |a_n - a_1| \cdot |b_n - b_1| \cdot \max_{1 \leq k \leq n} (P_k \overline{P}_k) \quad (6)$$

where $P_k = \sum_{i=1}^k p_i$, $\overline{P}_k = P_n - P_k$.

D. Andrica and C. Badea [3] have proved:

Theorem B. Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be n -tuple of real numbers and let $p = (p_1, \dots, p_n)$ be an n -tuple of positive numbers. Further let a, b

$$m_1 \leq a_i \leq M_1, \quad m_2 \leq b_i \leq M_2. \quad (7)$$

Then the following inequality is valid

$$I(a, b; p) \leq |M_1 - m_1| \cdot |M_2 - m_2| \cdot \max_{J \subset I_n} (P(J)(P_n - P(J))) \quad (8)$$

where $I_n = \{1, \dots, n\}$ and $P(J) = \sum_{i \in J} p_i$ for $J \subset I_n$.

S. S. Dragomir and R. P. Agarwal [4] prove:

Theorem C. Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be n -tuples of complex numbers and let $p = (p_1, \dots, p_n)$ be probability distribution, i.e. $p_i \geq 0$ ($i = 1, \dots, n$) and $\sum_{i=1}^n p_i = 1$. Then we have the following inequalities

$$|I(a, b; p)| \leq \left\{ \begin{array}{l} \max_{k=1, \dots, n-1} |a_{k+1} - a_k| \cdot \max_{i=1, \dots, n} |b_i| \sum_{i,j=1}^n p_i p_j |i - j| \\ n^{1-\frac{1}{q}} \max_{i=1, \dots, n-1} |a_{k+1} - a_k| \left(\sum_{i=1}^n |b_i|^{\frac{q}{q-1}} \right)^{1-\frac{1}{q}} \left(\sum_{i,j=1}^n p_i^q p_j^q |i - j|^q \right)^{\frac{1}{q}} \quad (q > 1) \\ n \max_{i=1, \dots, n-1} |a_{k+1} - a_k| \sum_{i=1}^n |b_i| \max_{i,j=1, \dots, n} \{p_i p_j |i - j|\} \end{array} \right\} \\ = F_1(a, b; p) \quad (9)$$

and

$$|I(a, b; p)| \leq \left\{ \begin{array}{l} \max_{k=1, \dots, n-1} |a_{k+1} - a_k| \cdot \max_{i=1, \dots, n} \{p_i |b_i|\} \sum_{i,j=1}^n p_i |i - j| \\ n^{1-\frac{1}{q}} \max_{i=1, \dots, n-1} |a_{k+1} - a_k| \left(\sum_{i=1}^n p_i |b_i|^{\frac{q}{q-1}} \right)^{1-\frac{1}{q}} \left(\sum_{i,j=1}^n p_i p_j |i - j|^q \right)^{\frac{1}{q}} \quad (q > 1) \\ (n-1) \max_{i=1, \dots, n-1} |a_{k+1} - a_k| \sum_{i=1}^n p_i |b_i| \end{array} \right\} \\ = F_2(a, b; p). \quad (10)$$

S. Izumino, J. Pečarić and B. Tepeš [5] have proved:

Theorem D. Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be n -tuples of complex numbers and let $p = (p_1, \dots, p_n)$ be probability distribution, i.e. $p_i \geq 0$ ($i = 1, \dots, n$) and $\sum_{i=1}^n p_i = 1$. Then

$$\begin{aligned} I(a, b; p) &\leq \sum_{i=1}^n \left(\sum_{j=1}^{i-1} P_j |\Delta a_j| + \sum_{j=1}^{n-1} \bar{P}_{j+1} |\Delta a_j| \right) p_i |b_i| \\ &\leq \sum_{i=1}^n \left(\sum_{i=1}^n |i-j| p_j \right)^{1-\frac{1}{q}} \left(\sum_{j=1}^{i-1} P_j |\Delta a_j|^q + \sum_{j=1}^{n-1} \bar{P}_{j+1} |\Delta a_j|^q \right)^{\frac{1}{q}} p_i |b_i| (q > 1) \\ &\leq \max_{j=1, \dots, n-1} |\Delta a_j| \sum_{i=1}^n \left(\sum_{j=1}^n |i-j| p_j \right) p_i |b_i| \leq F_{1,2}(a, b; p). \end{aligned} \tag{11}$$

Then J. Pečarić and B. Tepeš [6] have proved the following improvement of the last inequality in (10):

Theorem E. Let $a = (a_1, \dots, a_n)$, $b = (b_1, \dots, b_n)$ be n -tuples of complex numbers and let $p = (p_1, \dots, p_n)$ be probability distribution, i.e. $p_i \geq 0$ ($i = 1, \dots, n$) and $\sum_{i=1}^n p_i = 1$. Then \check{z}

$$I(a, b; p) \leq \max \left\{ \sum_{j=1}^n p_j(j-1), \sum_{j=1}^n p_j(n-j) \right\} \max_{k=1, \dots, n-1} |a_{k+1} - a_k| \sum_{i=1}^n p_i |b_i|. \tag{12}$$

2. Main Result

Lemma 1. Let functions $f, g : [a, b] \rightarrow R$ be differentiable functions and let $p : [a, b] \rightarrow R$ be positive integrable function. Then

$$I(a, b; p) = \int_a^b \left(\int_a^x P(t) df(t) - \int_x^b \bar{P}(t) df(t) \right) p(x) g(x) dx, \tag{13}$$

where $P(x) = \int_a^x p(t) dt$ and $\bar{P}(x) = \int_x^b p(t) dt = P(b) - P(x)$.

Proof. It is obviously that:

$$I(a, b; p) = \int_a^b p(x) g(x) \left(f(x) \int_a^b p(t) dt - \int_a^b p(t) f(t) dt \right) dx. \tag{14}$$

We have

$$\begin{aligned}
\int_a^b p(x)f(x)dx &= f(b) \int_a^b p(t)dt - \int_a^b P(t)df(t) \\
&= f(b) \int_a^b p(t)dt - \int_a^b P(t)df(t) + f(x) \int_a^b p(t)dt - f(x) \int_a^b p(t)dt \\
&= f(x)P(b) + \int_x^b P(b)df(t) - \int_a^x P(t)df(t) - \int_x^b P(t)df(t) \\
&= f(x)P(b) - \int_a^x P(t)df(t) + \int_x^b \bar{P}(t)df(t). \tag{15}
\end{aligned}$$

Using (15) in (14) we prove Lemma 1.

Theorem 1. *Let functions $f, g : [a, b] \rightarrow R$ be differentiable functions and let $p : [a, b] \rightarrow R$ be positive integrable function. Then*

$$\begin{aligned}
|I(f, g; p)| &\leq \int_a^b \left(\int_a^x P(t)|f'(t)|dt + \int_x^b \bar{P}(t)|f'(t)|dt \right) p(x)|g(x)|dx \\
&\leq \int_a^b \left(\int_a^b |x-t|p(t)dt \right)^{1-\frac{1}{q}} \left(\int_a^x P(t)|f'(t)|^q dt + \int_x^b \bar{P}(t)|f'(t)|^q dt \right)^{\frac{1}{q}} p(x)|g(x)|dx \\
&\leq \max_{x \in [a, b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \leq F_{1,2}(f, g; p), \tag{16}
\end{aligned}$$

where

$$\begin{aligned}
&F_1(f, g; p) \\
&= \left\{ \begin{array}{l} \max_{x \in [a, b]} |f'(x)| \max_{x \in [a, b]} |g(x)| \int_a^b \int_a^b p(t)p(x)|x-t|dt dx \\ (b-a)^{1-\frac{1}{q}} \max_{x \in [a, b]} |f'(x)| \left(\int_a^b |g(x)|^{\frac{q}{q-1}} dx \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b (p(t))^q (p(x))^q |x-t|^q dt dx \right)^{\frac{1}{q}} \\ \hspace{15em} (q > 1) \\ (b-a) \max_{x \in [a, b]} |f'(x)| \int_a^b |g(x)| dx \max_{t, x \in [a, b]} \{p(t)p(x)|x-t|\} \end{array} \right. \tag{17}
\end{aligned}$$

and

$$\begin{aligned}
 & F_2(f, g; p) \\
 = & \left\{ \begin{array}{l} \max_{x \in [a, b]} |f'(x)| \max_{x \in [a, b]} \{p(x)|g(x)|\} \int_a^b \int_a^b p(t)|x-t| dt dx \\ \max_{x \in [a, b]} |f'(x)| \left(\int_a^b p(t) dt \right)^{1-\frac{1}{q}} \left(\int_a^b p(x)|p(x)|^{\frac{q}{q-1}} dx \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b p(t)p(x)|x-t|^q dt dx \right)^{\frac{1}{q}} \\ \max_{x \in [a, b]} |f'(x)| \max \left\{ \int_a^b (b-x)p(x) dx, \int_a^b (x-a)p(x) dx \right\} \int_a^b p(x)|g(x)| dx. \end{array} \right. \quad (q > 1)
 \end{aligned} \tag{18}$$

Proof. Using Lemma 1 and $df = f'(x)dx$ we have

$$|I(f, g; p)| \leq \int_a^b \left(\int_a^x P(t)|f'(t)| dt + \int_x^b \overline{P}(t)|f'(t)| dt \right) p(x)|g(x)| dx. \tag{19}$$

Using fundamental inequality for means [1, pp.15] with $q > 1$ and (19) we have

$$\begin{aligned}
 & \int_a^b \left(\int_a^x P(t)|f'(t)| dt + \int_x^b \overline{P}(t)|f'(t)| dt \right) p(x)|g(x)| dx \\
 = & \int_a^b \left(\int_a^x P(t) dt + \int_x^b \overline{P}(t) dt \right) \frac{\left(\int_a^x P(t)|f'(t)| dt + \int_x^b \overline{P}(t)|f'(t)| dt \right)}{\int_a^x P(t) dt + \int_x^b \overline{P}(t) dt} p(x)|g(x)| dx \\
 \leq & \int_a^b \left(\int_a^x P(t) dt + \int_x^b \overline{P}(t) dt \right) \frac{\left(\int_a^x P(t)|f'(t)|^q dt + \int_x^b \overline{P}(t)|f'(t)|^q dt \right)^{\frac{1}{q}}}{\left(\int_a^x P(t) dt + \int_x^b \overline{P}(t) dt \right)^{\frac{1}{q}}} p(x)|g(x)| dx \\
 = & \int_a^b \left(\int_a^x P(t) dt + \int_x^b \overline{P}(t) dt \right)^{1-\frac{1}{q}} \left(\int_a^x P(t)|f'(t)|^q dt + \int_x^b \overline{P}(t)|f'(t)|^q dt \right)^{\frac{1}{q}} p(x)|g(x)| dx.
 \end{aligned} \tag{20}$$

It is obvious that:

$$\int_a^x P(t) dt = \int_a^x \int_a^t p(s) ds dt = \int_a^x \int_s^x p(s) dt ds = \int_a^x (x-s)p(s) ds = \int_a^x (x-t)p(t) dt, \tag{21}$$

and

$$\int_x^b \overline{P}(t) dt = \int_x^b \int_t^b p(s) ds dt = \int_x^b \int_x^s p(s) dt ds = \int_x^b (s-x)p(s) ds = \int_x^b (t-x)p(t) dt. \tag{22}$$

Using (21), (22) and (20) we have second inequality in (16).

Fundamental inequality for means [1, pp.15] with $q = \infty$ second inequality in (16) we have the third inequality in (16):

$$\begin{aligned} & \int_a^b \left(\int_a^b |x-t|p(t)dt \right)^{1-\frac{1}{q}} \left(\int_a^x P(t)|f'(t)|^q dt + \int_x^b \overline{P}(t)|f'(t)|^q dt \right)^{\frac{1}{q}} p(x)|g(x)|dx \\ & \leq \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx. \end{aligned} \quad (23)$$

It is obviously that

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \\ & \leq \max_{x \in [a,b]} |f'(x)| \max_{x \in [a,b]} |g(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)dx. \end{aligned} \quad (24)$$

Using integral analogue of Hölder's inequality [1, pp.106] with $q > 1$, we have

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \\ & \leq \max_{x \in [a,b]} |f'(x)| \left(\int_a^b \int_a^b |g(x)|^{\frac{q}{q-1}} dx dt \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b |x-t|^q (p(t))^q (p(x))^q dt dx \right)^{\frac{1}{q}} \leq \\ & = (b-a)^{1-\frac{1}{q}} \max_{x \in [a,b]} |f'(x)| \left(\int_a^b |g(x)|^{\frac{q}{q-1}} dx \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b |x-t|^q (p(t))^q (p(x))^q dt dx \right)^{\frac{1}{q}}. \end{aligned} \quad (25)$$

It is obviously that:

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \\ & \leq \max_{x \in [a,b]} |f'(x)| \max_{t,x \in [a,b]} \{p(t)p(x)|x-t|\} \int_a^b \int_a^b |g(x)| dt dx \\ & = (b-a) \max_{x \in [a,b]} |f'(x)| \max_{t,x \in [a,b]} \{p(t)p(x)|x-t|\} \int_a^b |g(x)| dx. \end{aligned} \quad (26)$$

It is also obviously that:

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \\ & \leq \max_{x \in [a,b]} |f'(x)| \max_{x \in [a,b]} \{p(x)|g(x)|\} \int_a^b \left(\int_a^b |x-t|p(t)dt \right) dx. \end{aligned} \quad (27)$$

Using integral analogue of Hölder's inequality [1, pp.106] with $q > 1$, we have

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \int_a^b |x-t| \cdot |g(x)|p(t)p(x)dt dx \\ &= \max_{x \in [a,b]} |f'(x)| \int_a^b \int_a^b |g(x)|(p(t)p(x))^{\frac{q-1}{q}} |x-t|(p(t)p(x))^{\frac{1}{q}} dt dx \\ &\leq \max_{x \in [a,b]} |f'(x)| \left(\int_a^b \int_a^b |g(x)|^{\frac{q}{q-1}} p(t)p(x) dt dx \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b |x-t|^q p(t)p(x) dt dx \right)^{\frac{1}{q}} \\ &= \max_{x \in [a,b]} |f'(x)| \left(\int_a^b p(t) dt \right)^{1-\frac{1}{q}} \left(\int_a^b |g(x)|^{\frac{q}{q-1}} p(x) dx \right)^{1-\frac{1}{q}} \left(\int_a^b \int_a^b |x-t|^q p(t)p(x) dt dx \right)^{\frac{1}{q}}. \end{aligned} \tag{28}$$

It is obviously that

$$\begin{aligned} & \max_{x \in [a,b]} |f'(x)| \int_a^b \left(\int_a^b |x-t|p(t)dt \right) p(x)|g(x)|dx \\ &\leq \max_{x \in [a,b]} |f'(x)| \max_{x \in [a,b]} \left\{ \int_a^b |x-t|p(t)dt \right\} \int_a^b p(x)|g(x)|dx \\ &= \max_{x \in [a,b]} |f'(x)| \max \left\{ \int_a^b (b-x)p(x)dx, \int_a^b (x-a)p(x)dx \right\} \int_a^b p(x)|g(x)|dx. \end{aligned} \tag{29}$$

Last equality in (29) is because function $y : [a, b] \rightarrow R$, $y(x) = \int_a^b |x-t|p(t)dt$ is convex function on $[a, b]$ or $y'(x) = P(x) - \bar{P}(x)$ and $y''(x) = 2p(x) > 0$.

Remark. Let $p : [a, b] \rightarrow R$ be positive integrable function. Then

$$\max \left\{ \int_a^b (b-x)p(x)dx, \int_a^b (x-a)p(x)dx \right\} \leq (b-a) \int_a^b p(x)dx. \tag{30}$$

References

[1] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and New Inequalities in Analysis*, Kulwer Academic Publishers, Boston, London, 1993.
 [2] J. E. Pečarić, *On an inequality of T. Popovicui*, Bull. Sti. Tehn. Inst. politehn. Timișoara 2 **24**(1979), 9-15.
 [3] D. Andrica and C. Badea, *Grüss inequality for positive linear functionals*, Periodica mathematica Hungarica **19**(1988), 155-167.
 [4] S. S. Dragomir and R. P. Agarwal, *Some inequalities and their applications for estimating the moments of guessing mappings*, Mathematical and Computer Modelling **34**(2001), 441-468.

- [5] S. Izumino, J. Pečarić and B. Tepeš, *Some extensions of Grüss inequality and its applications*, submitted for publications.
- [6] J. Pečarić and B. Tepeš, *Improvement of an inequality of Grüss type for complex numbers*, *Nonlinear Funct. Anal. & Appl.* **9** (2004), 545-550.

Faculty of Education, Toyama University, Gofuku, Toyama 930-8555, Japan.

E-mail: s-izumino@h5.dion.ne.jp

Faculty of Textile Technology, University of Zagreb, Pierottijeva 6, Zagreb 10000, Croatia.

E-mail: pecaric@mahazu.hazu.hr

Faculty of Philosophy, University of Zagreb, 1. Lvčića 3, Zagreb 10000, Croatia.

E-mail: btepes@ffzg.hr